FHFE KA FPHEE (FTM6E6 ABMAIER)
(B FH)
= &t BA it w &
FHIERTDEE FHIEZE WIERDE | MIERTDEE FHIEZE fHIE®RDEE
— =5t 13,367,166 16,000 13,383,166 13,367,166 16,000 13,383,166
ERBERRKRFI=E 2,474,397 2,474,397 2,474,397 2,474,397
‘RASHEEREIRE 689,042 689,042 689,042 689,042
MR =E 2,149,105 2,149,105 2,149,105 2,149,105
FHmES I EFAERSEEFIRE 10,289 10,289 10,289 10,289
INET 18,689,999 16,000 18,705,999 18,689,999 16,000 18,705,999
S S e 2 {lxzﬁﬁbi 297,597 297,597 282,635 282,635] < ERHIDL CERKMEMD
BEARENE 122,607 122,607 175,113 175,113
- IR 28 B 5E 477,053 477,053 466,575 466,575
BEARENE 147,564 147,564 300,298 300,298
A TAEE A IR 28 B 5E 612,146 612,146 574,348 574,348
BEXHE 186,849 186,849 473,119 473,119
K a5 {4}1&5}1% 76,825 76,825 64,432 64,432
BEXENE 0 0 34,161 34,161
INET 1,920,641 0 1,920,641 2,370,681 0 2,370,681
= 20,610,640 16,000 20,626,640 21,060,680 16,000 21,076,680




